
CHEMISTRY

BOOKS - ICSE

SPECIMEN PAPER 3

Section I

1. Write the equations for the following and

balance them 

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_cE2pBcjYFpYb


Iron reacts with steam to produce triferric

tetraoxide and hydrogen.

Watch Video Solution

2. Write the equations for the following and

balance them 

Ammonium dichromate on heating

decomposes into chromium oxide, water

vapour and nitrogen.

Watch Video Solution

https://dl.doubtnut.com/l/_cE2pBcjYFpYb
https://dl.doubtnut.com/l/_JSB9jPi0gInA
https://dl.doubtnut.com/l/_vsUbtGkYwG30


3. Write the equations for the following and

balance them 

Iron (III) chloride dissolves in water producing

Iron (III) hydroxide and hydrochloric acid.

Watch Video Solution

4. Write the equations for the following and

balance them 

Magnesium reacts with nitrogen to give

magnesium nitride.

Watch Video Solution

https://dl.doubtnut.com/l/_vsUbtGkYwG30
https://dl.doubtnut.com/l/_tLpEGrSF4Rb5


5. Write the equations for the following and

balance them 

Phosphorus burns in oxygen to give

phosphorus pentoxide.

Watch Video Solution

6. Choose the correct word or letter from the

brackets to complete the sentences. 

Separation of hydrogen from carbondioxide is

https://dl.doubtnut.com/l/_tLpEGrSF4Rb5
https://dl.doubtnut.com/l/_1eLfACCOmkXM
https://dl.doubtnut.com/l/_5Yx1eYJxcqNU


achieved by passing the mixture through

_______ (ammoniacal cuprous chloride,

potassium hydroxide solution).

Watch Video Solution

7. Choose the correct word or letter from the

brackets to complete the sentences. 

Copper oxide reacts with hydrogen to produce

copper and water. Copper oxide is ________

(reduced/oxidised) in this reaction.

Watch Video Solution

https://dl.doubtnut.com/l/_5Yx1eYJxcqNU
https://dl.doubtnut.com/l/_A7tYVcSGOGmN


8. Choose the correct word or letter from the

brackets to complete the sentences. 

Potassium is placed in _______ group and _____

period of periodic table (first, second, third,

fourth).

Watch Video Solution

9. Choose the correct word or letter from the

brackets to complete the sentences. 

Atomic number is equal to the number of

https://dl.doubtnut.com/l/_A7tYVcSGOGmN
https://dl.doubtnut.com/l/_T6Ju7ZztLyi5
https://dl.doubtnut.com/l/_CcWBLkfEHjFu


_______ (protons, electrons, neutrons) in an

atom.

Watch Video Solution

10. Choose the correct word or letter from the

brackets to complete the sentences. 

The solubility of a gas in a liquid _________

(decreases, increases) with rise in

temperature.

Watch Video Solution

https://dl.doubtnut.com/l/_CcWBLkfEHjFu
https://dl.doubtnut.com/l/_bZRzQd9gnWPA
https://dl.doubtnut.com/l/_ogAbLeNW1PEA


11. Name 

An element which reacts with alkali to produce

hydrogen.

Watch Video Solution

12. Name 

Substances responsible for green house effect.

Watch Video Solution

https://dl.doubtnut.com/l/_ogAbLeNW1PEA
https://dl.doubtnut.com/l/_kXdwzhEXnGBN


13. Name 

Inert gas of third period.

Watch Video Solution

14. Brown gas having an irritating odour.

Watch Video Solution

15. The ion formed when hydrogen loses one

electron.

https://dl.doubtnut.com/l/_Z20kupt03RKX
https://dl.doubtnut.com/l/_C1rixwqR6sZq
https://dl.doubtnut.com/l/_ISZ9Hx2cTaGU


Watch Video Solution

16. Give reasons for the following 

Nitric acid is not preferred in lab. prepartion

of hydrogen.

Watch Video Solution

17. Give reasons for the following 

Dilute hydrochloric acid reacts with

magnesium liberating hydrogen, but the same

https://dl.doubtnut.com/l/_ISZ9Hx2cTaGU
https://dl.doubtnut.com/l/_3CMrT6PlcaN2
https://dl.doubtnut.com/l/_uxE6dWAcApzh


is not liberated when the acid reacts with

copper.

Watch Video Solution

18. Give reasons for the following 

Boiled water tastes flat.

Watch Video Solution

19. Give reasons for the following 

Carbon monoxide is a slow poison.

https://dl.doubtnut.com/l/_uxE6dWAcApzh
https://dl.doubtnut.com/l/_ret7pbMUcBfV
https://dl.doubtnut.com/l/_Zxkf4F8SYcJn


Watch Video Solution

20. Give reasons for the following 

Chlorine displaces bromine from potassium

bromide.

Watch Video Solution

21. State two methods to remove temporary

hardness.

Watch Video Solution

https://dl.doubtnut.com/l/_Zxkf4F8SYcJn
https://dl.doubtnut.com/l/_3VBeJMTv846I
https://dl.doubtnut.com/l/_G7U9tlfQgzIV


22. A certain amount of a gas at  and 1

atmospheric pressure occupies a volume of

. If the pressure is kept constant and

the temperature is raised to , what

would be the volume of the gas ?

Watch Video Solution

27
∘C

25dm3

77
∘C

23. Match the column A with column B 

https://dl.doubtnut.com/l/_G7U9tlfQgzIV
https://dl.doubtnut.com/l/_IPZ6dbaCM34K
https://dl.doubtnut.com/l/_9eRUMCc0sPQW


Watch Video Solution

24. An atom of an element X has 2 electrons in

its N shell. 

State its electronic configuration

Watch Video Solution

25. An atom of an element X has 2 electrons in

its N shell. 

Is it a metal or non-metal ?

https://dl.doubtnut.com/l/_9eRUMCc0sPQW
https://dl.doubtnut.com/l/_s3FLXLl3lutu
https://dl.doubtnut.com/l/_0JQ023OhXjv4


Watch Video Solution

26. An atom of an element X has 2 electrons in

its N shell. 

State the number of protons in X.

Watch Video Solution

27. An atom of an element X has 2 electrons in

its N shell. 

Write the formula of its chloride.

Watch Video Solution

https://dl.doubtnut.com/l/_0JQ023OhXjv4
https://dl.doubtnut.com/l/_wj7kLGePRLpT
https://dl.doubtnut.com/l/_2hp3s4waICSE


Section Ii

28. An atom of an element X has 2 electrons in

its N shell. 

Where is this element placed in the periodic

table ?

Watch Video Solution

https://dl.doubtnut.com/l/_2hp3s4waICSE
https://dl.doubtnut.com/l/_YY0iorLf5e8W


1. Copper sulphate crystals are heated strongly

in a hard glass test tube. Write three

observations noticed.

Watch Video Solution

2. What do you understand by 

Hard water

Watch Video Solution

https://dl.doubtnut.com/l/_Dtv2roTzkrDY
https://dl.doubtnut.com/l/_SHVJlbGecvN4


3. What are the causes for 

Permanent hardness

Watch Video Solution

4. Explain one method of removing permanent

hardness.

Watch Video Solution

https://dl.doubtnut.com/l/_O4yeTsrmeDzY
https://dl.doubtnut.com/l/_o9qd1OuHyQPG


5. Give the equation for the lab preparation of

hydrogen.

Watch Video Solution

6. Why the solid reactant is used in granulated

form ?

Watch Video Solution

7. How is the gas recognised ?

https://dl.doubtnut.com/l/_qWCq09uzLbr6
https://dl.doubtnut.com/l/_flsBgzT1ZImx
https://dl.doubtnut.com/l/_Zdoo1TT2bUdK


Watch Video Solution

8. Mention any two impurities present in

hydrogen prepared in laboratory.

Watch Video Solution

9. How are these impurities removed ?

Watch Video Solution

https://dl.doubtnut.com/l/_Zdoo1TT2bUdK
https://dl.doubtnut.com/l/_aac8jPTiA3TK
https://dl.doubtnut.com/l/_CbpjNrJRxiO6


10. State three precautions taken in preparing

hydrogen.

Watch Video Solution

11. Give three main characteristics of

representative elements.

Watch Video Solution

https://dl.doubtnut.com/l/_N2htHvMkfMWj
https://dl.doubtnut.com/l/_miXu55xShEJG


12. Give the physical state of the last group

members of the modern periodic table. State

their valency.

Watch Video Solution

13. Elements X, Y and Z have atomic numbers 6,

9 and 12 respectively. Which one : 

forms an anion

Watch Video Solution

https://dl.doubtnut.com/l/_MaEJY0GFemeL
https://dl.doubtnut.com/l/_UX4VIvDLYG9t
https://dl.doubtnut.com/l/_WGFjFCCV1sVh


14. Account for the following : 

Though lead is above hydrogen in the activity

series, it is not used to prepare hydrogen.

Watch Video Solution

15. Account for the following : 

Potassium and sodium are not used to react

with dil. HCI or dil.  in the lab.

preparation of hydrogen

Watch Video Solution

H2SO4

https://dl.doubtnut.com/l/_WGFjFCCV1sVh
https://dl.doubtnut.com/l/_Evne2EkzKoCJ


16. Account for the following : 

Isotopes of an element possess identical

chemical properties.

Watch Video Solution

17. Distinguish by flame test : Sodium chloride

and potassium chloride.

Watch Video Solution

https://dl.doubtnut.com/l/_awivzK0ALkOV
https://dl.doubtnut.com/l/_tn0aYYt52zu7


18. State the effect of temperature on

solubility of the following: 

Calcium sulphate

Watch Video Solution

19. State the effect of temperature on

solubility of the following: 

Potassium nitrate

Watch Video Solution

https://dl.doubtnut.com/l/_7yJu5GY77Nk8
https://dl.doubtnut.com/l/_ICCNmKgeJ5Eb
https://dl.doubtnut.com/l/_6iiaFscQjuMJ


20. State the effect of temperature on

solubility of the following: 

Sodium chloride

Watch Video Solution

21. Define 'decomposition reaction'. Write an

equation in each case 

Thermal decomposition

Watch Video Solution

https://dl.doubtnut.com/l/_6iiaFscQjuMJ
https://dl.doubtnut.com/l/_JFLIyZFbpLMQ
https://dl.doubtnut.com/l/_stRhxnyu9Tbd


22. Define 'decomposition reaction'. Write an

equation in each case 

Decomposition by electricity

Watch Video Solution

23. Elements A, B and C have atomic numbers

9, 10 and 20 respectively. State which one is 

(i) a metal 

(ii) non-metal 

(iii) chemically inert. 

Explain the formation of bond between any

https://dl.doubtnut.com/l/_stRhxnyu9Tbd
https://dl.doubtnut.com/l/_e0PN9armycSd


two elements. Draw its orbital diagram. Name

the type of bond.

Watch Video Solution

24. Reactions can be classified as follows: 

Direct combination, decomposition, simple

displacement, double decomposition and

neutralisation. State which of the above types

takes place in the reactions given below. 

Watch Video Solution

Cl2 + 2KI → 2KCl + I2

https://dl.doubtnut.com/l/_e0PN9armycSd
https://dl.doubtnut.com/l/_VvFicvQyRXzZ


25. Reactions can be classified as follows: 

Direct combination, decomposition, simple

displacement, double decomposition and

neutralisation. State which of the above types

takes place in the reactions given below. 

Watch Video Solution

NaOH + HCl → NaCl + H2O

26. Reactions can be classified as follows: 

Direct combination, decomposition, simple

https://dl.doubtnut.com/l/_VvFicvQyRXzZ
https://dl.doubtnut.com/l/_rX4p6XKR64GZ
https://dl.doubtnut.com/l/_ZEzlCUwpQNUe


displacement, double decomposition and

neutralisation. State which of the above types

takes place in the reactions given below. 

Watch Video Solution

4HNO3 → 4NO2 + 2H2O + O2

27. Reactions can be classified as follows: 

Direct combination, decomposition, simple

displacement, double decomposition and

neutralisation. State which of the above types

https://dl.doubtnut.com/l/_ZEzlCUwpQNUe
https://dl.doubtnut.com/l/_B4LxEykoAXN5


takes place in the reactions given below. 

Watch Video Solution

2Mg + O2 → 2MgO

28. Reactions can be classified as follows: 

Direct combination, decomposition, simple

displacement, double decomposition and

neutralisation. State which of the above types

takes place in the reactions given below. 

Watch Video Solution

AgNO3 + HCl → AgCl + HNO3

https://dl.doubtnut.com/l/_B4LxEykoAXN5
https://dl.doubtnut.com/l/_jZdp94HyWatD


29. Name the substance responsible for the

depletion of ozone layer.

Watch Video Solution

30. Give an example of an endothermic

reaction.

Watch Video Solution

https://dl.doubtnut.com/l/_jZdp94HyWatD
https://dl.doubtnut.com/l/_cxFpCuLxwOSe
https://dl.doubtnut.com/l/_DcQUO42vOSY8


31. Distinguish : zinc nitrate and lead nitrate,

by heating.

Watch Video Solution

32. Complete the following equations and

state in each case if the reaction represents

oxidation or reduction. 

Watch Video Solution

Pb2 +
→ Pb4 +

https://dl.doubtnut.com/l/_Exwu7nKkY1a8
https://dl.doubtnut.com/l/_djt9FY9nf3Ar
https://dl.doubtnut.com/l/_KcRikthmqQT4


33. Complete the following equations and

state in each case if the reaction represents

oxidation or reduction. 

.

Watch Video Solution

Mg2 +
→ Mg

34. Draw orbital diagrams for the formation of

the following compounds. 

Sodium chloride

Watch Video Solution

https://dl.doubtnut.com/l/_KcRikthmqQT4
https://dl.doubtnut.com/l/_AN6mUGWl43Al


35. Draw orbital diagrams for the formation of

the following compounds. 

Water

Watch Video Solution

https://dl.doubtnut.com/l/_j3is02kgdNfp

